

**NUI Companies** On Gas Company of Florida lizabethtown Gas Company Elikton Gas Service Natural Gas Services, Inc. North Carolina Gas Service NUI Energy Brokers, Inc. Littity Billing Services, Inc. Valley Cities Gas Service Wavery Gas Service

> One Elizabethtown Plaza P.O. Box 3175 Union New Jersey 07083-1975 Tel: (908) 289-5000

Via Federal Express

December 19, 1996

Ms. Blanca Bayo, Director Division of Record and Reporting 2540 Shummard Oak Blvd. Tallahassee, FL 32399-0868

Docket No. 960003-GU, Purchased Gas Adjustment Cost Recovery Re:

Dear Ms. Bayo:

Enclosed for filing are the original and 10 copies of City Gas Company of Florida's purchased gas adjustment filing for the month of November 1996 and request for specified confidential treatment of portions of such information. The request is made pursuant to Section 366,093, Florida Statutes, for the reasons detailed in the document entitled "City Gas Company of Florida's Request for Specified Confidential Treatment," which document was filed under separate cover (copy enclosed). The sensitive information contained in these forms has been highlighted or computer shaded.

Please acknowledge receipt and filing of the above by stamping the duplicate copy of this letter and returning same to me.

Thank you for your assistance in connection with this matter.

Raymond A. DeMoine Director, Rates and

Regulatory Affairs

Very truly your

RAD mab

egfpgx

Encl. RCH \_\_\_\_\_

ACK \_\_\_\_\_ AFA \_\_\_\_\_

APP \_\_\_\_ CAF \_\_\_\_\_ CMU \_\_\_\_\_

CTR \_\_\_\_

EAG \_\_\_\_

LEG \_\_\_\_

LIN \_\_\_

RECEIVED & FILED

FPSC-BUREAU OF RECORDS WAS ....

13576 DEC 20 8

EPSC-RECORDS/REPORTING

DOCUMENT NUMPER-DATE

FILE COE

# BEFORE THE FLORIDA PUBLIC SERVICE COMMISSION

In re: Purchased Gas ) Docket No. 960003-GU Adjustment Cost Recovery ) Filed: December 19, 1996

# CITY GAS COMPANY OF FLORIDA REQUEST FOR SPECIFIED CONFIDENTIAL TREATMENT

City Gas Company of Florida ("City Gas" or "the Company"), pursuant to section 366.093, Florida Statutes, submits the following Request for Specified Confidential Treatment of portions of its Purchased Gas Adjustment (PGA) filing for the month of November 1996. In support thereof, City Gas states:

- City Gas' PGA filing for the month of November 1996 consists of Schedule A-1, A-1R, A-1 Supporting Details, A-2, A-3, A-4, A-5, A-6 and purchased gas invoices for the month of November 1996. The confidential version of City Gas' filing for the month is submitted in a sealed envelope concurrently with this request.
- Attached hereto as Exhibit "A" is a detailed justification for the requested confidential treatment of the highlighted portions of City Gas' filing referenced above.
- The material for which confidential classification is sought is intended to be and is treated by City Gas as proprietary and has not been publicly disclosed.
- City Gas requests that the information for which it seeks confidential classification not be declassified for a period of eighteen months as provided in section 366.093 (4), Florida Statutes. The time period requested is necessary to allow City

DOCUMENT NUMBER-DATE

13576 DEC 20 %

FPSC-RECORDS/REPORTING

Schedule Number, or Other Identifier	Page	Lines	Confidential Treatment is Req Columns	Justification (Se "Notes" Below)
A-1	1	3 - 6	A, C, E, G	(2. 3)
		7-8	A. C. E. G	(3)
		17 - 20	A. C. E. G	(2, 3)
		21-22	A. C. E. G	(3)
		31	A. C. E. G	(1)
A-1R	2	3 - 6	A. B. C. E. F. G	(2, 3)
		7-8	A, B, C, E, F, G	(3)
		17 - 20	A. B. C. E. F. G	(2,3)
		21-22	A. B. C. E. F. G	(3)
		31	A. B. C. E. F. G	(1)
A-1. Supporting Detail	3	9 - 40	A. B. C	(3)
A-3	5	2-8, Total	A-K	(4)
A-4	6	1-11. Total	A, C, D, E, F, G, H	(5)
Summary of Gas Invoices	9-10	Oth.Supp.		
Summary of Gas Invoices	11	All	ALL	(6)
Gas Invoices	B1 - B7	none	none	n/a
	B8-B19	All	All	(6)

# Notes To Exhibit "A" Regarding Justification:

- (1) Line 31 of Schedule A-1 and A-1R contains City Gas' Weighted Average Cost of Gas (WACOG) for the current month. Dissemination of this information could adversely influence the Company's ability to effectively negotiate for low-cost gas supplies. If gas suppliers know the Company's WACOG, they may tend to quote future gas prices at or above the weighted level. Likewise, vendors who previously supplied gas to the Company at prices below the average cost could tend to resist making future price concessions. As a consequence, ratepayers may pay higher gas costs. Public knowledge of City Gas' WACOG "would impair the efforts of the Company to contract for goods or services on favorable terms," Section 366.093(3)(d), Florida Statutes.
- (2) Disclosure of lines 4 and 18, Schedules A-1 and A-1R, will allow suppliers to derive the price that the Company pays third-party suppliers. Dividing line 4, Cost of Gas Purchased, by line 18, Therms Purchased, yields the WACOG that appears on line 31. As explained above, publication of the information on line 31 could diminish the Company's ability to constructively negotiate for gas supplies. Therefore, any information that could provide competitors with the contents of line 31 should be also granted confidentiality. Public knowledge of this information "would impair the efforts of City Gas to contract for goods or services on favorable terms," Section 366.093(3)(d), Florida Statutes.
- (3) Lines 3 6,17- 22 of Schedules A-1 and A-1R, contain components of arithmetical calculations used to derive the per therm price of gas. Disclosure of these numbers is "reasonably likely" to impair the Company's efforts to contract for goods and services on favorable terms. Similarly, the Company further requests confidentiality for Schedule A-1, Supporting Details, with respect to the columns named Therms, Invoice Amount and Cost per Therm. This schedule shows the derivation and arithmetic manipulation of information on Schedule A-1 and A-1R. Publication of the supporting details for these Schedules "would also impair the efforts of City Gas to contract for goods or services on favorable terms," Section 366.093(3)(d), Florida Statutes.
- (4) Schedule A-3, System End Use, identifies the Company's gas suppliers, as well as the price and volume of gas that the Company purchased for the month. As explained above, public knowledge of this information "would impair the efforts of City Gas to contract for goods or services on favorable terms," Section 366.093(3)(d), Florida Statutes.
- (5) The information contained within Schedule A-4, Transportation System Supply, represents negotiated gas supply packages purchased from vendors. These prices

vary according to the operational flexibility of each contract. Release of any information therein would be detrimental to the interests of the Company and its customers since it would provide competitors with a list of City Gas's suppliers, volumes purchased and costs by gas supply source. As described above, publication of this information "would impair the efforts of City Gas to contract for goods or services on favorable terms," Section 366.093(3)(d), Florida Statutes.

(6) The third-party gas invoices attached represent negotiated gas-supply packages and contain data that must be kept confidential according to contractual terms between the Company and individual suppliers. Furthermore, as explained in paragraphs 1 through 5 above, release of any information such as the supplier's identity, or price and quantity of gas purchased may "impair the efforts of City Gas to contract for goods or services on favorable terms," Section 366.093(3)(d), Florida Statutes.

It is necessary to keep the whole invoice confidential as any person familiar with the format, fonts and/or type sizes that each gas supplier uses in constructing respective invoices can easily determine their identity. Alternatively, the following information should be made confidential: the supplier's identity, address and phone number; length of the contract, invoice date, invoice number, contract number, customer identification number, description of service, average daily therm usage, name, address and phone number of contact person, points of gas receipt and delivery, transaction date, rate codes, base rates, surcharges and discounts, volumes and payment due. Release of such information may lead suppliers to fix prices at inflated levels and as a consequence, ratepayers may pay higher gas costs.

In conjunction with the Gas Invoices, City Gas files a Schedule that summarizes all gas invoices and imbalance dispositions. This schedule is intended to facilitate the Commission's review of the filing. City Gas will continue to provide this schedule and requests confidential classification for the entire summary document.

COMPARISON OF ACTUAL VERSUS ORIGINAL ESTIMATE COMPANY: SCHEDULE A-1 OF THE PURCHASED GAS ADJUSTMENT COST RECOVERY FACTOR (REVISED 6/08/94) CITY GAS COMPANY OF FLORIDA Through MARCH 97 ESTIMATED FOR THE PERIOD OF: APRIL 96 PAGE 1 OF 11 CURRENT MONTH: 11/66 DIFFERENCE PERIOD TO DATE DIFFERENCE ACTUAL ORG. EST. AMOUNT AMOUNT COST OF GAS PURCHASED ACTUAL ORG. EST. 1 COMMODITY (Pipeline) Includes No Notice Commodity Adjustment 27.662 50.422 (22,760) (45.14) 403.988 380,464 23.524 5.18 2 NO NOTICE SERVICE RESERVATION (Line 29 A-1 support detail) 20.195 20,195 79.031 79 031 3 SWING SERVICE 4 COMMODITY (Other) 1,675,599 16.84 12,643,387 (3.30) 5 DEMAND (Line 32 - 29 A-1 support detail) 1.374.422 (8.99) 6.066.456 (7.92) 4,100 (58.56) 31,352 60.38 6 OTHER LESS END-USE CONTRACT 7. COMMODITY (Pipeline) 8 DEMAND 10 Second Prior Month Purchase Adj. (OPTIONAL) 11 TOTAL COS (1+2+3+4+5+6+10)-(7+8+9) 3,258,196 3.124.738 133,458 4.27 19,174,825 20,100 690 (925 865) (4.01) 12 NET UNBILLED (7,864) 115.15 18,757 13 COMPANY USE (14,520) (0.656) (45, 329)62,088 (136.97) 14 TOTAL THERM SALES 3,137,394 2,628,363 (509,031) (16.22) 20,854,905 20,220,997 633.908 3.13 THERMS PURCHASED 7.032.356 52 642 799 15 COMMODITY (Pipeline) Billing Determinants Only 7,876,920 844,564 12.01 53 063 064 (420, 485) (0.79) 16 NO NOTICE SERVICE RESERVATION Bill. Determinants Only (Line 29 A-1 support detail 2 910 000 2,910,000 11 387 500 11.387.500 Commodity 17 SWING SERVICE 7.032.356 1.59 53.063.284 Commodity (3.79) 18 COMMODITY (Other) 23,705,100 120 152 770 19 DEMAND (8.50) Billing Determinants Only (Line 32-29 A-1 support detail) 719.80 (65.06) 9.911 75,790 (3.32) 20 OTHER Commodity LESS END-USE CONTRACT 21 COMMODITY (Pipeline) . 22 DEMAND 23 24 TOTAL PURCHASES (17+18+20)-(21+23) 7,640,069 7,042,267 597,802 6.49 51,124,736 53,139,074 (2.014.338) (3.79)25 NET LINBILLED 25 COMPANY USE (15,000) (17,014) 113.43 (66,764) 53,236 (44.36) (32,014) (120,000) 27 TOTAL THERM SALES (24-26 Estimated only) 7 999 191 7.027.267 971 924 13.83 63 410 189 53.019.074 10.391.115 19.60 CENTS PER THERM 28 COMMODITY (Pipeline) 0.00351 0.00717 (0.00366) (51.05) 0.00767 0.00717 0.00050 6.97 29 NO NOTICE SERVICE (2/16) 0.00694 0.00694 0.00694 0.00894 30 SWING SERVICE (3/17) 31 COMMODITY (Other) (4/15) 0.23827 7.59 0.23827 0.52 (5/19) 0.05786 0.05798 (0.00012) (0.21)0.06657 0.05798 0.00859 14.82 32 DEMAND (6/20) 0.49057 0.41388 0.07689 18.59 0.68625 0.41367 0.27258 65.89 33 OTHER LESS END-USE CONTRACT 34 COMMODITY Pipeline (7/21) 35 DEMAND (8/22)(9/23)34 37 TOTAL COST (11/24)0.42548 0.44371 (2 01725) (3.59) 0.37506 0.37827 (0.00321) (0.85) 38 NET UNBILLED (12/25) 0.44373 0.37774 39 COMPANY USE (13/26)0.45355 0.00982 2.21 (0.25099) (0.62873) (166.45) 40 TOTAL THERM SALES (11/27) 0.40732 0.44466 (0.03734) (8.40) 0.30239 0.37912 (0.07673) (20.24) 41 TRUE-UP 0.00180 0.00180 0.00180 0.00180 (E-Z)

0.40912

1.00376

0.41066

0.411

0.44546

1.00376

0.44814

0.448

(0.03734)

(2.03748)

(0.037)

(8.36)

(8.36)

(8.36)

0.30419

1.00376

0.30533

0.305

0.38092

1.00376

0.38235

0.382

(0.07673)

(0.07702)

10 077

(20 14)

(20 14)

42 TOTAL COST OF GAS (40+41)

44 PGA FACTOR ADJUSTED FOR TAXE (42x43)

45 PGA FACTOR ROUNDED TO NEAREST DOI:

43 REVENUE TAX FACTOR

COMPARISON OF ACTUAL VERSUS FLEX-DOWN ESTEMATE OF THE PURCHASED GAS ADJUSTMENT COST RECOVERY FACTOR	COST RECOVE	STIMATE ERY FACTOR					SCHEDULE A-1/R	~ =
ESTIMATED FO		APRIL 96	Through	MARCH 97			(Plex Down ) PAGE 2 OF 11	10E 2 OF 11
	CURRENT MONTH	- 1	DIFFERENCE		PERIOD TO DATE	ODATE	DIFFERENCE	
COST OF GAS PURCHASED	ACTUAL	(B) ONG. EST.	AMBUNT	(i)	ACTUAL	ORG. EST.	AMOUNT	Ear
1 CCMMCCTY (Pipeline) Includes No Notice Commodity Adjustment	27,662	53,446	(25.784)	(48.24)	403,988	344,718	59,270	17.19
2 NO NOTICE SERVICE RESERVATION (Line 29 A.1 support detail)	20,195	20,195		v	79.031	78,031	-	3
3 SWING SERVICE			通りが					
4 COMMODITY (Obser)				16.96				(2127)
3 DEMAND (Line 34 - 29 A.1 Support Detail)				(000)				(114)
- 2	NAME AND POST OF THE PARTY OF T			-				8
7 COMMODITY Poeine		Section of the last			Salah Salah	District Recognition	THE REAL PROPERTY.	
8 DEMAND							は、日本の日本の日本	
a								
10 Second Prox Month Purchase Adj (OPTIONAL)						9	٠	Ŧ
11 TOTAL C (1+2+3+4+5+6+10)-(7+8+8)	3,258,198	3,010,909	247,287	00 27	19,174,825	24,734,432	(5.459,607)	(72.48)
12 NET UMBILLED			٠					
	(14,520)	(8,427)	(8.083)	125 92	16,757	(56,885)	72.642	(129 96)
THERMS PURCHASED	5050000	8C9 044 9	1000 000	114.34	CON 800 07	/64 000 by	(3,04,00.5)	(DC C)
15 COMMONTY (Popeline) Billing Determinants Only	7,878,920	7,032,356	844.564	12.01	52,642,799	53,083,283	(420,484)	(0.79)
NO NOTICE SERVICE RESERVATION But	2,910,000	2,910,000			11,367,500	11.387.500		
							The Contract of the	
COMMODITY (Other) Commodity				650				197.00
19 DEMAND Billing Deforminants Only (Line 32-29 Art support detail)				(MC 59)				(18.88)
ND-USE CONTRACT		DOMESTIC OF THE PERSON		(married)		THE PERSONAL PROPERTY.		10.000
21 COMMODITY (Pipeline)				14	Section 1			Tár
22 DEMAND			1000					GV
24 TOTAL PURCHASES 117-18-20-21-23)	7 640 089	7 042 267	597 802	8 49	51 124 736	52 139 073	C 514 337	0.79
8	(32.014)	(15,300)	(17,014)		(66,764)	(120,000)	51,236	(44.36)
27 TOTAL THERM SALES CALZ'S Extracted only) CENTS PER THERM	7,999,191	7,027,287	971,924	13.83	63,410,189	53,019,073	10,391,116	19 60
8	0.00351	0.00760	(6010010)	(53.82)	0.00767	0.00650	0.00117	18.00
NO NOTICE SERVICE	0.00694	0.00094		63	0 000694	0.00694	٠	9
SWING SERVICE	-	-			Academic and American	SCHOOL SECTION	-	
COMMODITY (Other)				12	STATE OF STREET		THE PERSON NAMED IN COLUMN NAM	(28.54)
32 DEMAND (3/19)	0.00700	0.00200	0.07640	18 50	0 644036	0.00462	0277769	98 17
D-USE CONTRACT								
SA COMMODITY Pipeline (7/21)		34	) i	4	4	٠		34
35 DEWAND (9/22)	œ.	(8)	٠	34		0.00		
		7.514-010000				00000		
TOTAL COST	0.42646	0.42755	(90,000,0)	0 23	0.37508	0.46547	(0.09041)	(19.42)
NET UNBILLED	27.25		, 2000					100 100
SE COMPANY USE (1978)	0.40743	0.42847	971000	0000	(MACOL O	0,465671	(0.716/0)	(153.50)
TRIFLIP	0 00160	0 00180		-	0 00180	0.00180	lesson at	
TOTAL COST OF GAS	0.40412	0.43026	(0 02114)	(4.91)	0.30419	0.46832	(0.16413)	(35 05)
43 REVENUE TAX FACTOR	1 00376	1 00376			1.00376	1 00376		
	0.41066	0.43168	(22122)	(4.91)	0.30533	0.47008	(0.16475)	(35.05)
45 PGA FACTOR ROUNDED TO NEAREST 001	0411	0.432	(0.021)	(4.91)	0.305	0.470	(0.165)	(35.11)

. . .

COMPANY:

CITY GAS COMPANY OF FLORICA

# PURCHASED GAS ADJUSTMENT

PAGE 3 OF 11

COST RECOVERY CLAUSE CALCULATION SCHEDULE A-1 SUPPORTING DETAIL

SCHEDULE A-1	SUPPORTING DETAIL		
FOR THE PERIOD: APRIL 96 THROUGH MARCH 97			
CURRENT MONTH: 11/96	(A)	(B)	(C)
OMMODITY (Pipeline)	THERMS	INV. AMOUNT	COST PER THERM
1 Commodity Pipeline - Scheduled FTS	6,605,900	33,262.24	0.00504
2 Commodity Pipeline - Scheduled ITS			
3 No Notice Commodity Adjustment	1		
4 Commodity Adjustments	1,271,020	(5,600.00)	
5 Commodity Adjustments	1		
6 Commodity Adjustments	1		
7		000000000000000000000000000000000000000	
8 TOTAL COMMODITY (Pipeline)	7,876,920	27,662.24	0.00351
	Sched A-1 Ln 15	Sched A-1 Ln 1	Sched A-1 Ln 28
WING SERVICE		WALLES THE STATE OF	AND TAKE
9 Swing Service Scheduled			
10 Alert Day Volumes - FGT			
11 Operational Flow Order Volumes - FGT	[1]		
12 Less Alert Day Volumes Direct Billed to Others	接触菌 髓心法的情况		
13 Operating Account Balancing			
14 Other - Net market delivery imbalance			
15			
16 TOTAL SYMNG SERVICE	Schedule A-1 Line 17	Schadula A.1 Line 3	Schadula A.1 Lina Y
COMMODITY OTHER	Schedule A-1 Line 17	SCHOOL A-1 Cale 3	SCHOOLS AT LESS A
17 Commodity Other - Scheduled FTS	4. 新兴 经基础层外积益	STATE OF THE STATE	SHADE IN BUILD
18 Commodity Other - Scheduled ITS	Time (c. alice and c. alice)		
19 Imbalance Cashout - FGT			
20 Imbalance Cashout - Other Shippers			
21 Imbalance Cashout - Transporting Cust.			
22 Commodity Adjustment			
23 No Notice Commodity Adjustment			
24 TOTAL COMMODITY (Other)	\$15 [m] \$1 (m)		
	Schedule A-1 Line 18	Schedule A-1 Line 4	Schedule A-1 Line 3
DEMAND			
25 Demand (Pipeline) Entitlement			
26 Less Relinquished to End-Users			
27 Less Relinquished Off System			
28 Other - Firm winter supply	经历事证据 经复数价值		
29 Demand - No Notice			
30 Revenue Sharing - FGT	<b>的是快速的变形器</b> 层		
31 Other - Storage Demand	Grand Maria		
32 TOTAL DEMAND			
	Sched A-1 Line 19+16	Sched A-1 Line 5+2	Sched A-1 Line 32 & 2
OTHER	The state of the s		INC. COLO I (SOID AVE.)
33 Other - Monthly purchase from Peoples Gas			
34 Peak Shaving			
35 Storage withdrawai			
36 Other			
37 Other			
38 Other			
39 Other			
40 TOTAL OTHER	MATTER AND METERS AND		
	Schedule A-1 Line 20	Schedule A-1 Line 6	Schedule A-1 Line 3

OMPAI CITY C	GAS COMPANY OF FLORIDA				ARCH 97			(REVI	DULE A-2 SED 6/08/94)
-		APRIL 96 CURRENT MON	Through	DIFFERENCE	ARCH 97	PERIOD TO D	ATE	DIFFERE	AGE 4 OF 11
		(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)
		ACTUAL	ESTIMATE	AMOUNT	%	ACTUAL	ESTIMATE	AMOUNT	%
RUE-U	P CALCULATION								
1	PURCHASED GAS COST (Sch A-1 Flx down line 4+6)	1,959,441	1,677,970	(281,471)	-16.77%	10,900,045	15,938,388	5,038,343	31.619
2	TRANSP GAS COST (Sch A-1 Ftx down line 1+2+3+5)	1,298,755	1,332,938	34,183	2.56%	6,069,686	6,082,831	13,145	0.229
3	TOTAL	3,258,196	3,010,908	(247,288)	-8.21%	16,969,731	22,021,219	5,051,488	22.94
4	FUEL REVENUES (Sch A-1 Fix down line 14) (NET OF REVENUE TAX)	2,628,363	2,998,259	369,896	12.34%	18,323,979	21,937,336	3,613,357	16.47
5	TRUE-UP (COLLECTED) OR REFUNDED	(12,755)	(12,755)		0.00%	(39,285)	(89,285)	-	0.00
6	FUEL REVENUE APPLICABLE TO PERIOD * (LINE 4 (+ or -) LINE 5)	2,615,608	2,985,504	369,896	12.39%	18,234,694	21,848,051	3,613,357	16.549
7	TRUE-UP PROVISION - THIS PERIOD (LINE 6 - LINE 3)	(642,588)	(25,40-i)	617,184	-2429.48%	1,264,963	(173,168)	(1,438,131)	830.48
8	INTEREST PROVISION-THIS PERIOD (21)	2,714	2,304	(410)	-17.80%	(17,352)	17,081	34,433	201.59
9	BEGINNING OF PERIOD TRUE-UP AND INTEREST	916,734	516,769	(399,965)	-77.40%	(1,376,495)	573,226	1,949,721	340.13
10	TRUE-UP COLLECTED OR (REFUNDED) (REVERSE OF LINE 5)	12,755	12,755		0.00%	89,285	89,285	-	0.00
10a	Refund (if applicable)	-	-		-	20	-		
10b	Refund of interim rate increase		-						-
11	TOTAL ESTIMATED/ACTUAL TRUE-UP (7+8+9+10+10a)	289,615	506,424	216,809	42.81%	(39,599)	506,424	546,023	107.82
TERE	ST PROVISION							-	
12	BEGINNING TRUE-UP AND	916,734	516,769	(399,965)	-77.40%	* If line 5 i	s a refund add	to line 4	
	INTEREST PROVISION (9)					If line 5	is a collection (	) subtract from	line 4
13	ENDING TRUE-UP BEFORE	286,901	504,120	217,219	43.09%				
	INTEREST (12 + 10a + 10b + 7 - 5)				-				
14	TOTAL (12+13)	1,203,635	1,020,889	(182,746)	-17.90%				
15	AVERAGE (50% OF 14)	601,818	510,445	(91,373)	-17.90%				
16	INTEREST RATE - FIRST	0.05380	0.05380	8 8 8	0.00%				
	DAY OF MONTH								
17	INTEREST RATE - FIRST DAY OF SUBSEQUENT MONTH	0.05450	0.05450	*	0.00%				
18	TOTAL (16+17)	0.10830	0.10830		0.00%				
19	AVERAGE (50% OF 18)	0.05415	0.05415	-	0.00%				
20	MONTHLY AVERAGE (19/12 Months)	0.00451	0.00451	0.00000	0.07%				
21	INTEREST PROVISION (15x20)	2.714	2,304	(410)	-17.80%				

OMPA	NY: CITY GAS COMPAN	Y OF FLORIDA				ORTATION P SUPPLY AND					SCHEDULE A-3 (REVISED 8/19/93)
	ACTUAL FOR THE PER PRESENT MONTH:	IOD OF: November '96			APRIL 96		Through		MARCH 97		PAGE 5 OF 11
DATE	(A) PURCHASED FROM	(B) PURCHASED FOR	(C) SCH TYPE	(D) SYSTEM SUPPLY	(E) END USE	(F) TOTAL PURCHASED	COMMODIT (G) THIRD PARTY	Y COST (H) PIPELINE	(I) DEMAND COST	(J) OTHER CHARGES ACA/GRI/FUEL	(K) TOTAL CENTS PER THERM
/96	FGT		FTS-1			MISS AND INVESTMENT		20,401	1,257,850	27,662	
7									F 2 4 5 N		

#### TRANSPORTATION SYSTEM SUPPLY SCHEDULE A-4 (REVISED 8/19/93) FOR THE PERIOD OF: Through 11/01/96 11/30/96 PAGE 6 OF 11 MONTH: 11/96 (A) (B) (E) (C) (D) (F) (G) (H) NET MONTHLY GROSS MONTHLY WELLHEAD CITYGATE RECEIPT **AMOUNT** AMOUNT GROSS NET PRICE PRICE PRODUCER/SUPPLIER POINT MMBtu/d MMBtu/d MMBtu MMBtu (GxE)/F \$/MMBtu Mops Magnet CS-8-25412 CS-8-25412 CS-8-25412 CS-8-25412 CS-8-25412 Mops Comp Sta 8 Johnson's Bay TOTAL WEIGHTED AVERAGE

NOTE: CITY GATE PRICE SHOULD NOT INCLUDE FGT TRANSPORTATION CHARGES

EOR TH	E PERIOD OF:		APRIL 96	Through	MARCH 97			REVISED 8/19/93) AGE 7 OF 11
TOKTI	CURRENT MO		DIFFERE	THE RESERVE OF THE PERSON NAMED IN	TOTAL THER	MS SALES	DIFFERE	The second secon
	(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)
	ACTUAL	ESTIMATE	AMOUNT	%	ACTUAL	ESTIMATE	AMOUNT	%
THERM SALES (FIRM)								-
1 RESIDENTIAL	1,553,135	1,610,734	57,599	3.71%	12,202,491	12,215,445	12,954	0.11%
2 COMMERCIAL	3,603,066	4,147,364	544,298	15,11%	28,671,960	31,157,008	2,485,048	8.67%
3 COMMERCIAL LARGE VOL. 1				0.00%			5 1	0.00%
4 COMMERCIAL LARGE VOL. 2	1.00	(%)	140	0.00%	- 1		580	0.00%
				0.00%				0.00%
				0.00%		- 1		0.00%
5 TOTAL FIRM	5,156,201	5,758,098	601,897	11.67%	40,874,451	43,372,453	2,498,002	6.11%
THERM SALES (INTERRUPTIBLE	1							
6 INTERRUPTIBLE	767,922	651,757	(116,165)	-15.13%	4,424,795	4,050,823	(373,972)	-8.45%
7 LARGE INTERRUPTIBLE	336,260	617,412	281,152	83.61%		5,595,798	694,337	14.17%
8 TRANSPORTATION	1,738,808		(1,738,808)	-100.00%	13,563,383	-	(13,563,383)	-100.00%
9 TOTAL INTERRUPTIBLE	2,842,990	1,269,169	(1,573,821)	-55.36%	22,889,639	9,646,621	(13,243,018)	-57.86%
0 TOTAL THERM SALES	7.999.191	7.027.267	(971,924)	-12.15%		53.019.074	(10,745,016)	-16.85%
NUMBER OF CUSTOMERS (FIRM	Annual Control of the		1			CUSTOMERS P	ERIOD TO DATE	
1 RESIDENTIAL	92,773	94,249	1,476	1.59%	92.321	93,223	902	0.98%
2 COMMERCIAL	4,680	5,056	376	8.03%	4.659	4,940	281	6.03%
3 COMMERCIAL LARGE VOL. 1			VE DOOR	0.00%				0.00%
4 COMMERCIAL LARGE VOL. 2			-	0.00%	1	-		0.00%
		2		0.00%	1	-		0.00%
	2		-	0.00%	1 1			0.00%
15 TOTAL FIRM	97,453	99.305	1.852	1.90%	1	98.163	1.183	1.22%
NUMBER OF CUSTOMERS (INTE	A CONTRACTOR OF THE PARTY OF TH		1,1000	1		CUSTOMERS P	ERIOD TO DATE	
6 INTERRUPTIBLE	13	9	(4)	-30.77%	15	10	(5)	-33.33%
7 LARGE INTERRUPTIBLE	4	3	(1)			3	(1)	-25.00%
8 TRANSPORTATION	44		(44)	-100.00%			(41)	-100.00%
19 TOTAL INTERRUPTIBLE	61	12	(49)	-80.33%	2027	13	(47)	-78.33%
20 TOTAL CUSTOMERS	97.514	99,317	1.803	1.85%		98,176	1,136	1.17%
THERM USE PER CUSTOMER	1 01,014	35,511	1,000	1,00%	1 07,010	50,775	1,100 ]	1.11.2
1 RESIDENTIAL	17	17	0	2.08%	19	19	. T	0.00%
2 COMMERCIAL	770	820	50	6.55%	1	901	22	2.50%
23 COMMERCIAL LARGE VOL. 1		320	30	0.00%	3.00	301		0.00%
24 COMMERCIAL LARGE VOL. 2				0.00%	1			0.00%
25 INTERRUPTIBLE	59,071	72,417	13,347	22.59%	The state of the s	57,869	15,728	37.32%
26 LARGE INTERRUPTIBLE	84,065	205,804	121,739	144.82%		266,467	91,415	52.22%
27 TRANSPORTATION	39.518	205,004	(39,518)	-100.00%	20.757.77	200,407	(47,259)	-100.00%

CITY GAS COMPANY OF FLORIDA ACTUAL FOR THE PERIOD OF: APRIL 96	CONVER	SION FAC		LCULATI MARCH 97							(REVISED PAGE 8 OF	8/19/93)
	(A) APR	(B) MAY	(C) JUN	(D) JUL	(E) AUG	(F) SEP	(G) OCT	(H) NOV	(I) DEC	(J) JAN	(K) FEB	(L) MAR
1 AVERAGE BTU CONTENT OF GAS PURCHASED												
THERMS PURCHASED = AVERAGE BTU CONTENT CCF PURCHASED	1.0840	1.0810	1.0800	1.0750	1.0770	1.0770	1.0750	1.0740				
2 PRESSURE CORRECTION FACTOR												
a. DELIVERY PRESSURE OF GAS SOLD psia	15.236	15.236	15.236	15.236	15.236	15.236	15.236	15.236	15.236	15.236	15.236	15.2
b. DELIVERY PRESSURE OF GAS PURCHASED poin	14.73	14.73	14.73	14.73	14.73	14.73	14.73	14.73	14.73	14.73	14.73	14.
PRESSURE CORRECTION FACTOR (a/b) psia	1.0344	1.0344	1.0344	1.0344	1.0344	1.0344	1.0344	1.0344	1.0344	1.0344	1.0344	1.034
3 BILLING FACTOR												
BTU CONTENT x PRESSURE CORRECTION FACTOR	1.1210	1.1180	1.1170	1.1120	1.1140	1.1140	1.1120	1.1110	0.0000	0.0000	0.0000	0.00

# CITY GAS COMPANY OF FLORIDA Gas invoices for the month of 11/96

FGT FTS - Contract 5034	MCF	THERMS	RATE	AMOUNT	Checked:
Commodity costs	mor	THERMS	TOTAL	7	2.70011001
Hialeah, Opa Locka, Lake Forest:	FTS 1	1,342,867	0.00629	8,446.63	
End-Use / Pennsuco:	FTS 2	1,502,793	0.00391	5,875.92	
End-Ose / Pennsuco.	113 2	1,002,700	0.00001	0,070.00	
Cutler Ridge, So. Mia,					
West Miami, SW Div:	FTS 1	854,366	0.00629	5,373.96	
	FTS 2	956,114	0.00391	3,738.41	
Total Miami:	0	4,656,140		23,434.92	( )
Port St. Lucie	FTS 1	23,614	0.00629	148.53	
Port St. Lucie	FTS 2	26,426	0.00391	103.33	
	.10 2	20,720			
Cocoa, Eau Gallie, Indian River:	FTS 1	610,823	0.00629	3,842.08	
terment recommendation of the authors of the control between the control of the c	FTS 2	683,567	0.00391	2,672.75	
End-Use / Merritt Square:	FTS 1	0	0.00629	0.00	
Titusville:	FTS 1	107,537	0.00629	676.41	
ACCES (1980)	FTS 2	120,343	0.00391	470.54	
Melbourne:	FTS 1	79,822	0.00629	502.08	
	FTS 2	89,328	0.00391	349.27	
Total Brevard:	0	1,691,420		8,513.13	( )
Off-system		208,300	0.00510	1,062.33	
Total Firm:	0	6,605,900		33,262.24	( )
MEMO: FGT Fixed charges paid o	on 10th of month				
FTS-1 Demand - System supply	Miami	10,196,100	0.04344	442,918.58	( )
" Capacity release		(2,084,950)		(14,623.75)	( )
" System supply	Treasure Coast	301,800	0.04344	13,110.19	( )
" System supply	Brevard	5,939,700	0.04344	258,020.57	( )
	Merritt Sq.	0	0.04344	0.00	( )
Total FTS-1 demand		14,352,650	)E15(15(-) 16	699,425.59	(5) N
TS-2 Demand - System supply	Miami	7,267,500	0.07573	550,367.78	( )
FTS-2 Demand - System supply	main	0	0.07070	0.00	
10-2 Demand - Capacity Telease		0		0.00	
Total FTS-2 demand	_	7,267,500		550,367.78	
No Notice Demand System synchy	Miami	1,470,000	0.00694	10,201.80	( )
No Notice Demand-System supply	Brevard	1,440,000	0.00694	9,993.60	( )
	Dievalu —	2,910,000	0.00004	20,195.40	37/ 5
Mostors Div III Daniel Stade		2,910,000		0.00	( )
Western Div. / IT Revenue Sharing Total fixed charges		24,530,150		1,269,988.77	N 6
rotal fixed charges		24,000,100		.,200,000	

The original of this page contains a summary of gas invoices that is confidential to City Gas Company of Florida.

fayed to Au 11/6/96

#### FLORIDA GAS TRANSMISSION COMPANY An ENRON/SONAT Affiliate

DATE 10/31/96 DUE CUSTOMER: NUL CORPORATION ATTN: NORENE NAVARRO INVOICE NO. 550 ROUTE 202-200 TOTAL ANOUNT DUE \$197,264.19 BEDMINISTER, NJ 07921

Fage ! Please reference this invoice no. on your remittance and wire to: Wire Transfer Fiorida Gas Transmission Company Nations Bank; Dallas, TX Accourt ABA

CONTRACT

3608

SHIPPER: NUL CORPORATION

CUSTOMER NO. 11420

PLEASE CONTACT GNEN LUSTER AT (713)853-5127 WITH ANY QUESTIONS REGARDING THIS INVOICE DR CODE LIST

	TYPE: FIRM TRANSPORTATION				AT	(713)853-5127 ( CODE_LIST	N LUSTE	QUESTIONS I	REGARDING THIS	INVOICE
POI NO. NAME	DELIVERIES FOI NO. NAME	PROD MONTH	TC	RC	BASE	RATES SURCHARGES	0150	NET	VOLUMES MASTU DRY	AMGUNT
RESERVATION CHARGE	8500/day.	10/96	A	RES	0.7488	0.0085		0.3633	***	
MARKET IT REVENUE SHARING CREDIT	,	10/96	A	17F		0.0003		0.7573	263,500	\$199,548.55 (\$2,284.36)
		TOTAL FOR	CONTR	ACT 360	8 FOR MONTH	OF 10/96.			263,500	\$197,264.19
		*** END OF IN	VOICE	13719						***************************************

DATE:



# FLORIDA GAS TRANSMISSION COMPANY

An ENRON/SONAT Affiliate

Page 1

DATE	10/31/96	T
SUE	11/26/96	
INVOICE NO.	13743	
TOTAL AMOUNT DUE	\$441 498.84	

CUSTOMER: NUL CORPORATION ATIN: NORENE NAVARRO

CITY GAS CO OF FLORIDA
550 ROUTE 202-206
BEDMINISTER, NJ 07921

Please reference this invoice no. on your remittance and wire to: kire Transfer Florida Gas Transmission Company Nations Bank: Dallas. Tx Account ABA

CONTRACT	5034
1550000000000	ETS-

4 SH TS-1

SHIPPER: NUL CORPORATION

CUSTOMER NO. 11420

PLEASE CONTACT GWEN LUSTER AT (713)853-5127 WITH ANY QUESTIONS REGARDING THIS INVOICE OR CODE LIST

FTS-	I TYPE: FIRM TRANSPORTATION					0R	CODE LIST	ilin Ant	QUESTIONS.	KESAMDING THIS	INVOICE
RECEIPTS NAME	DELIVERIES POI NO. NAME		PROD MONTH	TC	RC	BASE	RATES SURCHARGES	DISC	NET	VOLUMES MMSTU DRY	AMOUNT
RESERVATION CHARGE RES CHG FOR TEMP RELING AT LESS T	32,9	ooldey.	- 10/96	A	RES	0.3659	0.0685		0.4344	1,015,400	\$441,089.76
NO NOTICE RESERVATION CHARGE	THE THE WATE		10/96	A	RES	0.3659	0.0600		0.4259	4.500	\$1,916.55
TEMPORARY RELINQUISHMENT CREDIT -	Aca cerc 5705 at noi 16118		10/96	A	NNR	0.0694			0.0694	124,000	\$8,605.60
		CATEX	-10/96	A	TRL	0.3659	0.0685		0.4344	(150)	(\$65.16)
TEMPORARY RELINQUISHMENT CREDIT -		CATEX	- 10/96	A	TRL	0.1839	0.0600		0.2439	(4,500) ₽	(\$1,097.55)
WESTERN DIVISION REVENUE SHARING			10/96	A	TCW						(\$162.17)
E'S. RN DIVISION REVENUE SHARING	CREDIT		10/96	A	TCH						(\$4,989.01)
MARIT! IT REVENUE SHARING CREDIT			10/96	A	17F						(\$3,799.18)
						COR MONTH	OF 10/96.				
			TOTAL FUR	CURIN	ACT 5034	FUR MUNTH	UF 10/90.			1,139,250	\$441,498.84

\*\*\* END OF INVOICE 13743 \*\*\*



DATE: 11-6-96
REVIEWED-Manages/TR

DATE: 11-4-96

# FLORIDA GAS TRANSMISSION COMPANY

Page I DATE 10/31/96 Please reference this invoice no. on your remittance and wire to: TUE CUSTOMER: NUL COMPORATION wire Transfer ATTN: NORENE NAVARRO Florida Gas Transmission Company INVUICE NO. - CITY GAS CO OF FLORIDA Mations Bank: Dallas, TX 550 ROLTE 202-206 Account TOTAL AHOURT DUE \$128,253.75 BEDMINISTER. NJ 07921 ASA COWTRACT 5364 SHIPPER: NUI CORPORATION CUSTOMER NO. 11420 PLEASE CONTACT GWEN LUSTER AT (713)853-5127 WITH ANY QUESTIONS REGARDING THIS INVOICE FTS-2 TYPE: FIRM TRANSPORTATION OR CODE LIST RECEIPTS. DELIVERIES. PROD RATES VOLUMES 201 NO. NAME POI NO. MONTH TC RC BASE SUNCHARGES NET MMSTU DAY AMOUNT RESERVATION CHARGE 5,500/day. A RES 0.7488 0.0005 0.7573 170,500 \$129,119.65 MARKET IT REVENUE SHARING CREDIT 10/96 A 1TF (\$865.90) TOTAL FOR CONTRACT 5364 FOR MONTH OF 10/96. 170,500 \$128,253.75

\*\*\* END OF INVOICE 13816 \*\*\*

DATE: 11-6-96

REVIEWED: Mallano/TR



yayed to An ulistre Ex

#### FLORIDA GAS TRANSMISSION COMPANY An ENRON/SONAT Affiliate

Page

DATE 11/10/96 DUE 11/20/96 INVOICE NO. 13991

CUSTOMER: NUI CORPORATION

ATTH: NORENE NAVARRO CITY GAS CO OF FLORIDA 550 ROUTE 202-206 BEDMINISTER, NJ 07921

Please reference this invoice no. on your remittance and wire to:

Wire Transfer

Florida Gas Transmission Company

Nations Bank; Dallas, TX

Account I ABA

TOTAL AMOUNT DUE CONTRACT

5364

\$2,123.22

SHIPPER: NUI CORPORATION

CUSTOMER NO. 11420

PLEASE CONTACT GWEN LUSTER

AT (713)853-5127 WITH ANY QUESTIONS REGARDING THIS INVOICE

00001010	TYPE: FIRM TRANS						CODE LIST				
RECEIPTS OI NO. NAME	POI NO.	NAME	PROD MONTH	TC	RC	BASE	RATES SURCHARGES	DISC	NET	WOLLIMES MMBTU DRY	AMOUNT
Usage Charge											
Usage Charge	16114	CITY GAS-LAKE FOREST	10/96	A	COM	0.0371	0.0020		0.0391	1,301	\$50.87
Usage Charge	16116	CITY GAS-OPA LOCKA	10/96	A	COM	0.0371	0.0020		0.0391	3,760	\$147.02
	16117	CITY GAS-N.W. HIALEAN	10/96	A	COM	0.0371	0.0020		0.0391	9,685 ~	\$378.68
Jsage Charge	16118	CITY GAS-S.E. HIALEAH	10/96	Α	COM	0.0371	0.0020		0.0391	8,032 -	\$314.05
Jsage Charge	16122	CITY GAS-WEST MIANI	10/96	A	COM	0.0371	0.0020		0.0391	2,972-	\$116.21
Jsage Charge	16123	cgc - sw	10/96	A	COM	0.0371	0.0020		0.0391	3.145-	\$122.97
Jsage Charge	16124	CITY GAS-SOUTH MIAMI	10/96	A	COM	0.0371	0.0020		0.0391	3.782 -	\$147.88
Jsage Charge	16125	CITY GAS-CUTLER RIDGE	10/96	A	COM	0.0371	0.0020		0.0391	2,045	\$79.96
Usage Charge										170 F - 200-200	\$75.97
Usage Charge	16177	CITY GAS-TITUSVILLE	10/96	A	COM	0.0371	0.0020		0.0391	1,943 -	
Jsage Charge	16178	CITY GAS-COCOA	10/96	A	COM	0.0371	0.0020		0.0391	520 -	\$20.33
STATE SAME	16179	EAU GALLIE-CITY GAS (COCO	10/96	A	COM	0.0371	0.0020		0.0391	4,863 -	\$190.14
Usage Charge	16180	CITY GAS-MELBOURNE	10/96	Α	COM	0.0371	0.0020		0.0391	1,488 -	\$58.18
Usage Charge	16287	FPC-BARTOW	10/96	Α	COM	0.0371	0.0020		0.0391	4,812	\$188.15
Usage Charge	58912	FPL MARTIN NORTH	10/96	А	COM	0.0371	0.0020		0.0391	3,393 -	\$132.67
Usage Charge	58921	CITY GAS - PT. ST. LUCIE	10/96	A	COM	0.0371	0.0020		0.0391	405 -	\$15.84
Usage Charge			10/96	A	COM	0.0371	0.0020		0.0391	2,156 -	\$84.30
	60606	CITY GAS-INDIAN RIVER							0.0371	628000000000	
			TOTAL FOR	CONTR	ACT 536	4 FOR MONTH	01 10/96.			54,302	\$2,123.22

\*\*\* END OF INVOICE 13991 \*\*\*

DATE:

REVIEWED:

DATE:



#### FLORIDA GAS TRANSMISSION COMPANY An ENRON/SONAT Affiliate

Page 1

DATE 11/10/96 DUE 11/20/96 INVOICE NO. 13923

CUSTOMER: NUI CORPORATION

ATTN: NORENE NAVARRO CITY GAS CO OF FLORIDA 550 ROUTE 202-206 BEDMINISTER, NJ 07921

Please reference this invoice no. on your remittance and wire to:

Wire Transfer

Florida Gas Transmission Company Nations Bank; Dallas, TX

Account I ABA

CONTRACT

YOTAL AMOUNT DUE

5034

\$33,928.13

SHIPPER: NUI CORPORATION

CUSTOMER NO. 11420

PLEASE CONTACT GWEN LUSTER

AT (713)853-5127 WITH ANY QUESTIONS REGARDING THIS INVOICE

TYPE: FIRM TRANSPORTATION					CR CODE LIST								
RECEIPTS POI NO. NAME	DELIVE POI NO.	RIES	PROD MONTH	TC	RC	BASE	RATES SURCHARGES	STSC	NET	VOLUMES MMBTU DRY	ANOUNT		
Usage Charge - No Notice For CO	COA												
Usage Charge - No Notice For CUI	TLER RIDGE		10/96	A	COM	0.0259	0.0370		0.0629	(5,361)	(\$337.21)		
Usage Charge - No Notice For HI	ALEAH		10/96	A	COM	0.0259	0.0370		0.0629	5,829	\$366.64		
Jsage Charge - No Notice For MEI			10/96	A	COM	0.0259	0.0370		0.0629	7,201	\$452.94		
Jsage Charge - No Notice For II			10/96	A	COM	0.0259	0.0370		0.0629	(1,941)	(\$122.09		
S FA	10341666		10/96	Α	COM	0.0259	0.0370		0.0629	(2,632)	(\$165.55		
Usage Charge	16114	CITY GAS-LAKE FOREST	10/96	A	COM	0.0259	0.0370		0.0629	12,575	\$790.97		
Jsage Charge	16116	CITY GAS-OPA LOCKA	10/96	A	COM	0.0259	0.0370		0.0629	36,367	\$2,287.48		
Jsage Charge	16117	CITY GAS-N.W. HIALEAN	10/96	A	COM	0.0259	0.0370		0.0629	90,048_	\$5,664.02		
Jsage Charge	16118	CITY GAS-S.E. HIALEAH	10/96	A	COM	0.0259	0.0370		0.0629	75,895-	\$4,773.80		
Usage Charge	16122	CITY GAS-WEST MIAMI	10/96	A	COM	0.0259	0.0370		0.0629	28,722	\$1,806.61		
Usage Charge	16123	CGC - SW	10/96	A	COM	0.0259	0.0370		0.0629	30,268	\$1,903.86		
Usage Charge	16124	CITY GAS-SOUTH MIAMI	10/96	A	COM	0.0259	0.0370		0.0629	36,568	\$2,300.13		
Usage Charge	16125	CITY GAS-CUTLER RIDGE	10/96	A	COM	0.0259	0.0370		0.0629	19,840	\$1,247.94		
Usage Charge	16177	CITY GAS-TITUSVILLE	10/96	A	COM	0.0259	0.0370		0.0629	18,614	\$1,170.82		
Usage Charge	16178	CITY GAS-COCOA	10/96	Α	COM	0.0259	0.0370		0.0629	5.016	\$315.51		
Usage Charge	16179	EAU GALLIE-CITY GAS (COCO	10/96	Α	COM	0.0259	0.0370		0.0629	47,031	\$2,958.25		
Usage Charge	16180	CITY GAS-MELBOURNE	10/96	A	COM	0.0259	0.0370		0.0629	14.314	\$900.35		
Usage Charge	16240	GAINESVILLE-DEERHAVEN GEN	10/96	A	COM	0.0259	0.0370		0.0629	4.000	\$251.60		
Usage Charge	16258	KISSINMEE GENERATING	10/96	A	COM	0.0259	0.0370		0.0629	1,176	\$73.97		
Usage Charge	(NE-70-7)		10/96	A	COM	0.0259	0.0370		0.0629	1,500	\$94.35		
Usage Charge	16262	FT PIERCE-GENERATING	A DESCRIPTION OF THE PROPERTY							70 - 10 - 10 - 10 - 10 - 10 - 10 - 10 -	\$3,051.34		
Usage Charge	16287	FPC-BARTOW	10/96	A	COM	0.0259	0.0370		0.0629	48,511	and house		
1000 1000 B	58912	FPL MARTIN NORTH	10/96	A	COM	0.0259	0.0370		0.0629	20,000	\$1,258.00		

# FLORIDA GAS TRANSMISSION COMPANY

An ENRON/SONAT Affiliate

DATE

11/10/96

Page Z

539,398 \$33,928.13

Please reference this invoice no, on your remittance

and wire to: DUE 11/20/96 CUSTOMER: NUI CORPORATION Wire Transfer ATTN: NORENE NAVARRO Florida Gas Transmission Company INVOICE NO. 13923 CITY GAS CO OF FLORIDA Nations Bank; Dallas, TX 550 ROUTE 202-206 Account TOTAL AMOUNT DUE \$33,928.13 BEDMINISTER, NJ 07921 ABA CONTRACT 5034 SHIPPER: NUI CORPORATION CUSTOMER NO. 11420 PLEASE CONTACT GWEN LUSTER AT (713)853-5127 WITH ANY QUESTIONS REGARDING THIS INVOICE TYPE: FIRM TRANSPORTATION OR CODE LIST RECEIPTS DELIVERIES PROD RATES VOLUMES POI NO. NAME PO1 NO. MONTH BASE SURCHARGES NET MMBTU DRY NAHE TC RC DISC AMOUNT Usage Charge 58921 \$245.88 CITY GAS - PT. ST. LUCIE 10/96 COM 0.0259 0.0370 0.0629 3,909 -Usage Charge 60606 \$1,302.34 CITY GAS-INDIAN RIVER 10/96 COM 0.0259 0.0370 0.0629 20,705 -Usage Charge 61237 KISSIMMEE CANE ISLAND 10/96 COM 0.0259 0.0370 0.0629 21,243 ~ \$1,336.18

\*\*\* END OF INVOICE 13923 \*\*\*

TOTAL FOR CONTRACT 5034 FOR MONTH OF 10/96.

REVIEWED DATE:



# INVO File with

FLORIDA GAS TRA Engineers formended

Page 1

DATE	11/10/96	
DUE	11/20/96	
INVOICE NO.	13899	
TOTAL AMOUNT DUE	\$6,115.63	-

3608

CUSTOMER: NUI CORPORATION

ATTN: NORENE MAVARR CITY GAS CO OF FLOR 550 ROUTE 202-206 BEDMINISTER, NJ 07921 11/22

tase reference this invoice no. on your remittance i wire to: re Transfer pride Gas Transmission Company tions Bank: Dallas. IX

...coun

CONTRACT

SHIPPER: NUI CORPORATION

TYPE: FIRM TRANSPORTATION

CUSTOMER NO. 11420

PLEASE CONTACT GWEN LUSTER AT (713)853-5127 WITH ANY QUESTIONS REGARDING THIS INVOICE OR CODE LIST

RECEIPTS POI NO. NAME	DELIVE POI NO.	RIES NAME	PROD MONTH	**	25	BASE	RATES			VOLUMES	
Usage Charge	701 80.	none	MUNIT	1.0	RC	BASE	SURCHARGES	DISC	NET	MMBTU DRY	AMOUNT
Usage Charge	16114	CITY GAS-LAKE FOREST	10/96	A	COM	0.0371	0.0020		0.0391	3,799	\$148.54
Usage Charge	16116	CITY GAS-OPA LOCKA	10/96	A	COM	0.0371	0.0020		0.0391	10,930 _	\$427.36
Usage Charge	16117	CITY GAS-N.W. HIALEAH	10/96	A	COM	0.0371	0.0020		0.0391	28,303 -	\$1,106.65
Usage Charge	16118	CITY GAS-S.E. HIALEAH	10/96	Α	COM	0.0371	0.0020		0.0391	23,477 -	\$917.95
Usage Charge	16122	CITY GAS-WEST MIAMI	10/96	A	COM	0.0371	0.0020		0.0391	8,672 -	\$339.08
Usage Charge	16123	CGC - SW	10/96	A	COM	0.0371	0.0020		0.0391	9,183 /	\$359.06
Usage Charge	16124	CITY GAS-SOUTH MIAMI	10/96	A	COM	0.0371	0.0020		0.0391	11,056	\$432.29
Usage Charge	16125	CITY GAS-CUTLER RIDGE	10/96	A	COM	0.0371	0.0020		0.0391	5,993 /	\$234.33
Usage Charge	16177	CITY GAS-TITUSVILLE	10/96	A	MOD	0.0371	0.0020		0.0391	5,664-	\$221,46
Usage Charge	16178	CITY GAS-COCOA	10/96	A	COM	0.0371	0.0020		0.0391	1,504 -	\$58.81
Usage Charge	16179	EAU GALLIE-CITY GAS (COCO	10/96	A	COM	0.0371	0.0020		0.0391	14,186	\$554.67
Usage Charge	16180	CITY GAS-MELBOURNE	10/96	A	COM	0.0371	0.0020		0.0391	4,346 -	\$169.93
Usage Charge	16287	FPC-BARTOW	10/96	A	COM	0.0371	0.0020		0.0391	10,188 -	\$398.35
Usage Charge	58912	FPL MARTIN NORTH	10/96	A	COM	0.0371	0.0020		0.0391	11,607	\$453.83
Usage Charge	58921	CITY GAS - PT. ST. LUCIE	10/96	A	COM	0.0371	0.0020		0.0391	1,185	\$46.33
20032 200.36	60606	CITY GAS-INDIAN RIVER	10/96	A	COM	0.0371	0.0020		0.0391	6,317~	\$246.99
			TOTAL FOR	CONTR	ACT 360	8 FOR MONTH	OF 10/96.			156,410	\$6,115.63

\*\*\* END OF INVOICE 13899 \*\*\*

PATE: 11-22-96.

PATE: 11-22-96.

PATE: 11-22-96

